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1. Seli Test Result

1.1 failed tests
1.2 Modified code




1.1failed cases hy test

Identifier Input specification output specification

T4 POS.STP000.004 S=EXNAHE S At 2170, 2tH1NE F|MH2tH  Fail
£ D&% NAHiC} a D ZHstHO| GIO|E K
O JAe=X| =2olstL},

T4_POS.STP005.000 Z=2t=2tHOAM Ado|o ==0| 27t E+S0| Fall
d+=zH=Z 1111112 2t= HMX|E = -t}
ALY,

Failed Cases : 2
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1.11ailed case (T4_P05.5TP.000.004)

| | 24 |7—| H—l = (d)g X'”j-l-él-_
} continue; hoiceNum2 £ OE

index = checkrRecipt(salesbata, listLen, Item_code);

[/ 8 ==
int choiceNun;
if ((itd + It|em code) >stock == 0) { |.X|I:If Ch0|ceNumO| OOI IIH

printf (" =7 2 =5 ", (itd + Item_code)->item); 7|_7|._S SalesDataE 7'|A|-O|-X|
choiceNum = 0; oo

if (index == -1) choiceNum = adjustQuantity(itd, Item_code, 1);
else choiceNum ad]ustQuant1ty(1t Item_code, Sa1esData[1ndex][1] + 1);
if (choiceNum = O) pr1ntf( b= o0 A H Y s Ut \n", (1td + Item_code)->item);
alea :nv--:lﬂ‘l-'Ff‘.] EH AL od s L el - ;\ 1, f—-i—rl ' Ti—nm_rnrl::n\_\ﬂ‘l-::nn Ch
oiceNum, ((itd + Item_code)->stock) - cho1ceNum),
/J/ o 285 HF
if (choiceNum !'= 0) {
if (index == -1) {
salesData[listLen] [0] Item_code;
salesbData[listLen] [1] choiceNum;
TistLen++;
}

else salesbata[index][1] = choiceNum;

rintsaleProcesscustomer(itd,Salesbata, listLen);

2] st 2 &

while (1) {
printf(" (y/n)
getchar();
scanf ("%c", &op);
197,16-30 52%




1.2 Modified code (T4_P035.5TP.000.004 )

E ~/code T4
Print_Error_Message("Wwrong Bar Code Input!");

S5 FH HE (d)é Xﬂﬂ@

index = checkrecipt(salesbata, listLen, Item_code);

//+ 2 T2
int choiceNum;
if ((itd + Item code) >stock ES O) {
printf(" =7 2= ", (itd + Item_code)->item);

choiceNum = 0;

if (index == -1) choiceNum = adjustQuantity(itd, Item_code, 1);
else choiceNum = adjustQuantity(itd, Item_code, SalesData[index][1] + 1);
if (choiceNum == 0){
printf(" sbE oo & H g9 U \n", (1td + Item_code)->item);
if(index !5 -1){
for(int remove_index = index; remove_index < TistLen - 1 ; remove_index ++){
salesData[remove_index][1] salesbata[remove_index + 1][1];
salesData[remove_index] [0] salesData[remove_index + 1][0];
}
TistLen --;
salespata[listLen] [0] -1;
salespata[listLen][1] -1;
}
}
AT~~~ :nm-:ni—':f-“ L will 4 EH AL od s L . L . . 1 ; -' X T4+ A o-n-ln'—\,‘-:-l-nm‘ rlﬂr\-:ﬂnhllln, ((-itd + Item_COde)—>St0C

k) - choiceNum);

J/2 0 5= o
if (choiceNum !'= 0) {
if (index == -1) {
salesbata[listLen] [0] Item_code;
salespata[listLen][1] choiceNum;
TistLen++;

else salesData[index][1] = choiceNum;

}
printsaleProcessCustomer(itd,salesbata, listLen);

3
JfE7 Y E B
char op;

printf ("
207,16-44




1.2 Modified code (T4_P035.5TP.000.004 )

E ~/code T4 after

==Customer Screen it
22 A HEWZR U
AR 1, 20| H

& ~/code T4_after

==Customer Screen

POS.STP.000.004
Pass




1.11ailed case (T4_P05.5TP.009.000)

E ~/code T4 — | x
$ ./main.exe

010

JI =l

5egmentat1on fault (core dumped)

~/code_T4

$ |

Q4T HSTL YT HIDE HA EE

Integer”?} Ot 2 & Segmentation fault



1.1failed case (T4_P05.5TP.009.000)

& ~/code T4 before main.c

2= )

TimeName * rtn = (T1meName *Imalloc(sizeof (TimeName));

scanf("%s", receipt_code);

1f(‘LookupRefundL1st(rece1pt code)){ refunditem.c
Print_Errior_Message ("0l © =l X ot Al 5 ¢ | :

return;

}

setRefundbate(rtn, receipt_ code); <

- LI |

= L-DCI. | =|"|C|.||C|.H=”|=[| L:lcl Vel “‘Cl.”l: l\l L[l y =>a | 'r.'l' | |=D=[ VIl j ¥ " - N
soldpata * sold_data = (SoldData *)malloc(sizeof(soldpvoid setRefundDate(TimeName * tn, char * code)

{
int YYYY, MM, DD, hh, mm;
char date[30];
strcpy(date, code);
2 912 "o} & &} char * ptr = strtok(date, ".");

rir
Mo
Ral
e
[T
4>

P35 FEE receipt_code 2}

th->year = atoi(ptr);
[ recipt_codeE H71&. ptr = strtok(NULL, ".");
th->mon = atoi(ptr);
& = k(NULL, ".™);
21 YYYY, MM, DD, hh, mm 22 3} ptr = strtok(NULL, =75
= = th->day = atoi(ptr);
=

A= Beh ptr = strtok(NULL, ".");

=l

setRefundDate &t 5 Sl Al B rtn

st LYO| M codeE Integer 4t S
(strtok: = XIS 22|, atoi: A

th->hour = atoi(ptr);

O] IO A %XH7t Ol ZHo|Lt Bi% SRE7F QXI5 o2, ptr = streok(NULL, ".");
thn->min = atoi1(ptr);




1.2 Modified code ([ T4_P035.5TP.005.000)

E ~/code T4 _after

int isNumstring(char * s,int len)
{ , , refundltem.c
size_t size = strlen(s);
1if(len != (int)size) return O; € -/code T4 sfter
for(int 1=0;1<(int) size;i++){
if(s[1] == |".") continue;
if(s[1] < '0" || s[i] > '"9") return O; /*
} g2 d® HF
return 1; A : . .
int setRefundbate(TimeName * tn, char * code)
{
if(lisNumstring(code, (int)strlen("YYYY.MM.DD.hh.mm"))) return O;
int YYYyY, MM, DD, hh, mm;
char date[30];
strcpy(date, code);

isNumStringOIEf'— HE char * ptr = strtok(date, ".");

(—'?'—X|-Od |- X|—E O|E_:|| if(!isNumString(ptr,4)) return 0;

|_o:| Ol “n O X_Hgl . tn->year = atoi(ptr);

ptr = strtok(NULL, ".");
if(!lisNumstring(ptr, 2)) return
tn->mon = atoi(ptr);

ptr = strtok(NULL, ".");
if(lisNumstring(ptr,2)) return
th->day = atoi(ptr);

ptr = strtok(NULL, ".");
if(lisNumstring(ptr,2)) return
th->hour = atoi(ptr);

ptr = strtok(NULL, ".");
1F(*15Num5tr1ng(ptr 2)) return
th->min = atoi(ptr);

return 1;




1.2 Modified code ([ T4_P035.5TP.005.000)

E ~/code T4 after

7 I 111

3 , e =o, 3

£ =

n not find file.

=2
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RROR:

ot | 2

1000 E ~/code_T4_after

1500 7 I 111

3000 #o, 32 B2, 4%

1e =
g = 3 s o3 : 2017.10.39.ak.r
ERROR: Can not find file.
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1. Result

Identifier Input specification output specification

T4_POS.STP000.004 =EZXNHZE Soff Xt =17l, 2tH1I/M= M=t Fail
£ 25 NAstC}. f D MotHO| 2O0|E & ->

O JAe=X| =2olstL}, Pass

T4_POS.STP005.000 2t=3tHO|M Q299 =250 E7Is%t E+=F0| Fail
A+=THZ 1111112 2t HAMXIE SHotCt ->

2 ot} Pass

Fixed Cases : 2



2.Test Result hy
Team 2

2.1failed cases

2.2 Coped with Failure &
Modified code




2 1failed cases

Identifier Pass/
Fail

T2.1.2.2 4 SIHO| EH|0|E M ot XM 7t gl Fail

T2_1.34 =27 segmentation fault('E=M " € +2H, ¢l ?2}':'4 O| Fail T4_POS.STP.000.004
L AFEZS [ QIESIA| S L7k MERZLO| ~ ot =B T2 1.3.3=
S Qlaiste T2 HAE HNoF A &%g.wltr X Pass
S H2E M E5 2H2 XS I =20 7H
MM =54 )

T2 1.3.6.2 ot ol & X=X refund_ YYMMDDhhmm Fail

refund_ YYMMDDhhmm
T2.2.1.2 [RBGIX| Y2 HIRE segmentation fault(@+5 Bl= ZO|7} O Cf2™ Fail T2 2.1.2=
= T4 POS.STP.005.000

HF2 E&L|CE 2017.11.16.xx.xx 7| §IO T HAAS
SEX|TH 8 11223344 [MH2|2| Z0| CHE YH2 A}
ofX| ot HEE JHEL|ChH

Qt = Y3t Fail case

T2 252 R X|H = 2= o= Mol X M | X| &0t HIAE XNZF =7F  Fail
Failed Cases : 6
T2 3.3.1 o5 Mol MAd Bl HAEEX KIS Fail

>



2.1falled case (12_1.2.2)

1.2.74%.HHjo|E
1.2.1-70:4 S| G0 | E - n:-AA|ZHEFE O] eHE
1.2.2 178 St HE|0| E - fail: 224 5tH A7 gl

E ~/code T4_after — O x

3 2 =
ol = : 10000
an not find file.




2.2 refutation (T2_1.2.2)

E ~/code T4

Ver D5-20175E-POS-5RS-1.0

Function

POSTE AFBXIH F4M SHRE(E{A 23200l 7|2 &20jN BE HES &
£ A BE2 NwE £ A0

POSTE HZC MMM E==F "HlZEE UWHE o

—
of ojfo = HE F=SUA D HHO

M MHOlM BEO| THsTICHE SEOl 2 P2, HAAIAS S BE
S 2%=% 4C YD BES H2T 2 AT
WD MEiolA BEO E7HSOCHs SO0 2 FP, WA SAEX £33
of M7 BBl 2% HE BFIFS BEO| BiHs TG 2= HAXS
2t
POSTE EHEO0| 2ZED M HIA(EX £y 0% 33 22 BE

R N . o
SRSO| M EHOf, 2h=, A0 =tQl 7h 2t El = AF21S

K20t AL

BHE =jgc




2.1falled case (12_1.34)

.3.4-E 5= fail: segmentation fault E -/code_T4_after
M7 E-5=H, gl-3Ho|- £ - st Al s L

T2 HASE HAoAHA AEELCH AHE

=




2.2 refutation (T2_1.34)

~/code T4 after b4 = ~/code_T4_after

=Customer Screen
tota1 : 500

g% %S




2.1falled case (12_13.6.2)

1.3.683+5 54
1.3.6.1- 2™ Alzt 2o gt =X| - pass
1.3.6.2- T+ L-0|§ F &= Xl - fail:- A ZHE S(refund_YYMMDDhhmm-0{OF 5t X| gt

refund_YYMMDD 77} X124 Ad)

E ~/code T4 _before - O *
~/code_T4_before

$ 1s
20171130_product. txt RefundList.txt
20171130_sale_management. txt reset. txt

AllTests.c
checkInven.c
checkInven.h
CuTest.c
CuTest.h

dailysettlement.c

dailysettlement.h
deleteTXT.sh
excute. sh
initserver.c
initserver.h
LastTime. txt
main'$'\r'"'.exe
main.c

main.exe
product. txt

N AWl «» LA L

refund_20171130.

rafFiinAT+am ~

L]

réfundItem.h

reset_product. txt
reset_sale_management. txt
sale_201711300008. txt
salesItem.c

salesItem.h
server_inventory.c
server_inventory.h
server_saleslist.c
server_saleslist.h
stock_test. txt

testT.TXT

test_product. txt
test_sale_management.0l. txt
test_sale_management.02. txt
test_sale_management. txt
timeSet.c

timeSet.h

UpdateScreen.c
UpdateScreen.h




2.2 Modified Code (T2_1.3.6.2)

& ~/code T4 _before

strcat(result, ".txt");
free(today);

}

void namingRefundRecipt(TimeName* tn, char * result) {
| char * today = (char*)malloc(strlen("yYYyymvMpD") + 1);
setYYYYMMDD(tn, today);
strcpy(result, "refund_");
strcat(result, today);
strcat(result, ".txt");
free(today);

152,1-8

E ~/code T4 _after

}

void namingRefundRecipt(TimeName* tn, char * result) {
char * today = (char*)malloc(strien("YYYYMMDDhhmm") + 1);
setYYYYMMDDhhmm(tn, today);

| strepy(result, "refund_");

strcat(result, today);
strcat(result, ".txt");
free(today);




2.2 Modified Code (T2_1.3.6.2)

E ~/code T4_after

$ 1s
20171130_product. txt

20171130_sale_management. txt

AllTests.c
checkInven.c
checkInven.h
CuTest.c
CuTest.h
dailysettlement.c
dailysettlement.h
deleteTXT. sh
excute. sh
initServer.c
initServer.h
LastTime. txt
"main'$'\r'’'.exe

"

~/code_T4_after

main.c

main.exe
main.exe.stackdump
product. txt

Daardma +wv+

refund_201711300344. txt

P N —
'Sl WAL DS

refundItem.h
RefundList. txt

reset. txt
reset_product. txt
reset_sale_management. txt
sale_201711300000. txt
salesItem.c

salesItem.h

server_inventory.c
server_inventory.h
server_saleslist.c
server_saleslist.h
stock_test. txt

test. tXt
test_product. txt
test_sale_management.
test_sale_management.
test_sale_management.
timeSet.c

timeSet.h
UpdateScreen.c
UpdateScreen.h




2.1falled case (T2_2.1.2)
s

2.1-Hz =27}

211857 HEE - pass«

2.1.2- 555Xl 8L 2 HI Z E - fail: segmentation fault(&=+Z ¢= Z0|7t-otof CH=2H HL 2 -
EHELICE 2017.11. 160000 7H G S B M A S 51X BB 11223344 2 o] ZI0| THE-
cladg 45b5tR|- 26t vl 2 JHELICH.

T2 2.1.2= T4 _POS.STP.005.0002t & L ¢t Fail case



2.1falled case (T2_25.2&T12 3.3.1)

2 52 S5 7} Kyt 5.8 2 fail- A= -1k 2lo]- 1 - A 5| x| ehol-E| AE- AR 7271

/code_T4_before

1500 010 c

~/code_T4_before

3000 011 - ~/code_T4_before
20171130_product txt reset. txt
20171130_sale_management. txt reset_product. txt
20171131 _product. txt reset_sale_management. txt
800| 101 ATTTESTS ¢ sale_201711300000. txt
checkInven.c salesItem.c
1200 110 checkInven.h salesItem.h
CuTest.c server_inventory.c
2000 111 CuTest.h server_inventory.h
dailysettlement.c server_saleslist.c
le 52,2 =0, 328 =22, 4= 7 : dailysettlement.h server_saleslist.h
++++++++H R deleteTXT.sh settle_20171130. txt
+ S 27 A L& U g, - excute.sh stock_test.txt
L e e S e E L L e inijtServer.c Test. Xt
1 initserver.h test_product. txt
AN A8 2 =2 3 U0 .. LastTime. txt test_sale_management.Ol. txt
'main'$'\r''.exe’ test_sale_management.02. txt
~/code_T4_before majn.c test_sale_management. txt
$ | main.exe timeset.c
product. txt timeSet.h
Readme. txt Updatescreen.c
- refundItem.c UpdateScreen.h
o5 DA H)= Mdd refundItem.h

500 100




2.1falled case (T2_25.2&T12 3.3.1)

[E ~/code_T4_before
UpdatesScreen.h

refundItem.c
refundItem.h

~/code_T4_before
E ~/code_T4_before

$ ./main.exe

o< om

32 #&,

) 4 =
: 2017.11.30.00.00|

= o

24
=




2. Result

Identifier Pass/
Fail

T2_1.2.2 2 otHO| YH0|E 2 ot H XA 7t Bl= Not
Fix
T2_1.3.4 =228 segmentation fault("E=X" & +2H, ¢ §PD4 O| Not
EndEs 0 YESHA LS U dEEo| Fix
= Esle Z2EMAE AMOF Y Arsd IEf. N
= H2E I 2= 2E2 =32 I Z=1340| 74
MA =xH K.
T2.13.6.2 ot Ol F X=X refund_YYMMDDhhmm Fail
refund YYMMDDhhmm ->
Pass
T2.2.1.2 QBSIX| YL HIAE segmentation fault(@3 $H= ZO|7t OO CtEX  Fail
HtZ E{&IL|C}: 2017.11.16.xxxx 7F S @™ HMEAE >
SFX| 2 BF 11223344 [2[2] ZO| CHE YA A3} Pass
StA| Xot HEZ THEL|CH)
T2.252 SRR S shE <= W20| A 88 =X FOF B ~E KHMZF =27F Not L 1 coces : 2
Fix
T2 3.3.1 o= O g0l Hdd &= WEEX S Not
N Fix



E ~/code T4 _before [E -/code T4 _before - O *

T
+ st=E o AMuzeUd. 4+
T

~/code_T4_before

[ — -
- U

20171130_product.txt | 'main'$'\r''.exe’ server_inventory.h
20171131_product. txt main.c server_saleslist.c
AllTracte o main.exe server_saleslist.h
checkInven.c product. txt stock_test.txt

checkInven.h Readme. txt test. txt

CuTest.c refundItem.c test_product. txt

CuTest.h refundItem.h test_sale_management.O0l. txt
dailysettlement.c reset. txt test_sale_management.02. txt
dailysettlement.h reset_product. txt test_sale_management. txt
deleteTXT.sh reset_sale_management. txt timeSet.c

excute.sh salesItem.c timeSet.h

initServer.c salesItem.h UpdateScreen.c

initServer.h server_inventory.c UpdateScreen.h

R L e e TR
+ %= AU zEUL. o+
trtttbt bbbttt

~/code_T4_before ~/code T4 before
$ | ~ _T4_

M| z=7|=) 0|2, A Al Al 2O 55 ThA(MH)0| =72} | X| BEof, TOi 2HY S +ASHK| BS Al FL4HA|
IS 3= 24.

—



E ~/code T4 _before
free(productPrice);
free(productBarcode);
return 1;

}

int Reset_saleslist(char * FileName) {
FILE * f;
if (strlen(FileName) == 0) {

1

if ((f = fopen(FileName, "r")) != nuLL) {
if ((f = fopen(FileName, "w")) != nuLL) {
else {

printf("reset saleslist faill\n");
return 0;

else {
return 0;

1
fclose(f);
return 1;

ool ojol Exg i 2212+ 1Hy.

E ~/code T4 _after
int Reset_Saleslist(char * FileName) {
FILE * f;
if (strlen(FileName) == 0) {
return O;

5
if ((f = fopen(FileName, "r")) == nNuLL) Ji

if ((f = fopen(FileName, "w")) != NULL) {

}

else {
printf("reset saleslist faill
return 0O;

else {
return O;

}
fclose(f);
return 1;

Dk

initServer.c




E ~/code T4 after

z 2 2 =
e
+ S EF ORNuUZEsUD. +
I |

At
O

op & (M H

MekM B S S S= ol 2.

1 oy

—

N

O

~/code_T4_after

T 7~

20171130_product. txt
20171130_sale_management. txt
20171131_product. txt
20171131_sale_management. txt

Al d I:DLD-\.
checkInven.c
checkInven.h
CuTest.c

CuTest.h
dailysettlement.c
dailysettlement.h
deleteTXT. sh
excute. sh
initserver.c
initserver.h
LastTime. txt

2= (M) 25 TN .

refundItem.c

refundItem.h

reset. txt
reset_product. txt
reset_sale_management. txt
salesItem.c

salesItem.h
server_inventory.c
server_inventory.h
server_saleslist.c
server_saleslist.h
settle_20171130. txt
stock_test.txt

test. tXt

test_product. txt
test_sale_management.O0l. txt







Jmain.exe

Jexcute.sh

or
gcc ".c -0 main
Jmain.exe



